Heating (eV-barns)

Energy-Balance Check

10’

10°

=
o
o1

=
o
D

.......... Upper limit
— —— Energy-balance heating
.......... Lower limit

10° 102 100 10° 10 10 10°
Energy (eV)




Heating (eV-barns)

Energy-Balance Check

2.5

%100

N
o
I

=
o1
I

=
o
I

o
ol
|

0.0

—— Energy-balance heating

Upper limit

Lower limit

I
10

Energy (eV)

15

20
%109



Energy-Balance Check

=
o
(@]

Photon energy prod (eV-barns)
o

Upper limit
— Photon energy production
Lower limit

[ [
10°  10°

Energy (eV)




Energy-Balance Check

8 |
*10°
.......... Upper Ilmlt
7 - —— Photon energy production |

.......... Lower ||m|t

(0]
|

ol
|

Photon energy prod (eV-barns
w EaN
I I

O Ll I

I
10

Energy (eV)

15

20
%109



